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o sE¥3.1(Linderberg-Levy CLT). 8% X1, Xo, - FI7[F 43
i, 0 < var(Xy) < 0. A,
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SEFESME, Vi~ U(0,10). iRV = 22, Vi, SRP(V > 105).

o A HIn = 20, x = 105, Kp.

e EVi =5, var(V}) = %.

o THH G ~ 0.387. AEAFP(x*) = 0.652,
MR Zp =1 — 0.652 = 0.348.
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o CUHn, p, Ko, Frk$tfite TTL.

o A; = i MBIFAM, P(A;) = 80%, X; =2 x 14,. n = 500.

o EX; =28 =16, var(X;) =4 x 0.8 x 0.2 = 0.64.

o xz — 500 *2=*0.8
V500 %22 % 0.8 0.2
o THRAED(2.33) =0.99. I, TRa* > 2.33.
B, Bk > 800 4 2.33 % 1/320 = 841.68, M 7842 T k.
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o Az, p=0.99997, Kn.

o [EBHn FAAEN 1, i I ERAX;
K A A FLUSY IR

P(S, <Y) = P(S, — Y <0) ~ ®(0%).

o TR®(0%) > 0.9997, TEfHa* > 4, B, —H) > 4,
A < 50.5. MM, fx @A 50 4.
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